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B0l upAl F 1 3.5 - 2.25 = 1.25(L)
wahA, (F) : (§4)=2.25:1.25
=2.25x 100 : 1.25 x 100 = 225 : 125
= (225 + 25) : (125+25) =9: 5




16. & 97159 Ayol7t 628 cm? ¥ ], Y715 2] Eo]E LA Q.

> Hg: 15cm

(FH9 Hol) = (B¥ol)- (B Hel) x2
=628 - (5x5x3.14) x 2
= 628 — 157
= 471(cm?)
(%0]) = (] Hol): (T BF)
=471+ (5x2x3.14)
=471 +31.4 = 15(cm)
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TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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(24) x2+3 =13
(34) = (13-3) + 2 = 5(7H)
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120cm
/
@O 748 cm @ 868 cm
@ 1182cm @®)1496 cm
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upebA] AEe] E3 9 dol=

(50x 2x3.14) x4 + 120 x 2

= 1256 + 240 = 1496( cm)
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(Z4el)
= (12x12x3.14) x2 + (12x2x 3.14) x 10

= 904.32 + 753.6 = 1657.92(cm?)

(F3])= 12 x 12 x 3.14 x 10 = 4521.6(cm?)
wrat A S F5HH 1657.92 + 4521.6 = 6179.52




23. = BYIA A7IUE 11E milEY 8% Bl Hls U
R g7 RS o 7|28 A2

AZ3} 9 20| IR Y RS H]Esto] FolE

Fow oYy

1
)i
o




T 2.

S

ZF7F 12.56 cm, =°]7F 6cm ©

]

75.36 mL
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12.56 + 3.14 + 2 = 2(cm)

(%31)

(B4¥lol) x (¥°]) ol22

75.36(mL)

2Xx2x3.14%x6 = 75.36(cm?)
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2x2x3.14x5 = 62.8 (cm?)




